|

A\WJ AW Rt
ETFE 7 v F#ilfig 2—7 >R/ vF

X

[MHEEN T\ NIN] I < v FHIEEXT

9023

# 55 R B
7 v FHlE (ETFE) 180°CIAF

HREt

/%a“{)l/h EAPIETFEI—TAVIRBNVE

2Ny J)IL:SUS 304
Rk -Fvh:iSUS 304
NV RARESUS 304
Mgl © 7w Rl (ETFE)

3

BB NN

H
RTFVLR AR | EE | RIE | RE | @ L P
m & SU | B | W | (® |AVE]| BN

EU10120-0013 | 13SU | 15.88 | 25 | 0.6 | W3/8 | M6Xx25| 27 | 61.8

_ EU10120-0020 | 20SU | 22.22 | 25 | 0.6 | W3/8 | M6X25| 27 | 65.4
Hiig W EU10120-0025 | 25SU | 28.58 | 25 | 0.6 | W3/8 | M6Xx25| 27 | 68.8
EU10120-0030 | 30SU | 34.0 | 25 | 0.6 | W3/8 | M6Xx25| 27 | 71.6

EUT0120-0040 | 40SU | 42.7 | 25 | 0.6 | W3/8 | M6X25] 27 | 76.1

EU10120-0050 | 50SU | 48.6 | 25 | 0.6 | W3/8 | M6Xx25 |27 | 79.1

EU10120-0060 | 60SU | 60.5 | 25 | 0.6 | W3/8 | M6Xx25| 27 | 85.2

1 L0 EU10120-0075 | 758U | 76.3 | 32 | 1.0 | W3/8 | M8X25| 27 | 89.6

[HEE~>o— ] EU10120-0080 | 80SU | 89.1 | 32 | 1.0 | W3/8 | M8x25] 27 | 96.1
EU10120-0100 | 100SU | 114.3 | 32 | 1.0 | W3/8 | M8X25| 27 |108.7

ETFE 7 v Z&£BlE - >7unvk

LZi} R R 9024
7w &g (ETFE) 180°CLATF
ETFEQ—T4 I\ F
RIVE-Fvh:SUS 304
NV RARE:SUS 304
H Mugiifs : 7 v R#iils (ETFE)
A7V LR R | GBS | RIE | ARE P AT c H
m B SU | BB | W | @ B:N
EU10220-0013 | 13SU | 15.88 | 25 | 0.6 | 20 | M6x20 | 47 | 53.5
EU10220-0020 | 20SU | 22.22 | 25 | 0.6 | 20 | M6x20 | 47 | 57.2
EUT0220-0025 | 25SU | 28.58 | 25 | 0.6 | 20 | M6X20 | 47 | 60.6
EU10220-0030 | 30SU | 34.0 | 25 | 0.6 | 20 | M6x20 | 47 | 63.4
EU10220-0040 | 40SU | 42.7 | 25 | 0.6 | 20 | M6x20 | 47 | 67.9
EU10220-0050 | 50SU | 48.6 | 25 | 0.6 | 20 | M6x20 | 47 | 170.9
EU10220-0060 | 60SU | 60.5 | 25 | 0.6 | 20 | M6x20 | 47 | 76.9
bl EU10220-0075 | 75SU | 76.3 | 32 | 1.0 | 20 | M6x20 | 47 | 84.9
(@4~ >o— K] EU10220-0080 | 80SU | 89.1 | 32 | 1.0 | 20 | M6x20 | 47 | 91.3
EU10220-0100 | 100SU [ 114.3 | 32 | 1.0 | 20 | M6x20 | 47 | 104.0
B — <, N
ETFE 7 vy FEHBillg o>/ UuRiLk (FL—F) .
K=y 5B R
7 v #HElE (ETFE) 180°CLLTF

75w b UKL b
U R)L b2 1 SUS304
ETFE 7 Sfiffis 7L — b Fu b 1 SUS304
(EFBEEE 180°CALT $eiRltiRE 7o IS (ETFE)
EE (O & 1.5mm TL—b:T7vEREE (ETFE)

ATVLR AR U RIL b ZJL—t
& & SuU D P d H A b W t
EUT0400-0013 135U  15.88 28 | W3/8/43.0| 28 | 73 | 25 | 1.5
EUT0400-0020 | 205U | 22.22 | 34 | W3/8]46.0]30 | 73 | 25 | 1.5
EUT0400-0025 | 255U | 28.58 40 | W3/8/51.0 |30 | 73 | 25 | 1.5
EUT0400-0030 | 30SU | 34.0 46 |W3/8]59.0 |30 | 73 | 25 | 1.5
EUT0400-0040 | 40SU | 42.7 56 | W3/8]68.0] 30 | 88 | 25 | 1.5
EUT0400-0050 | 50SU  48.6 62 | W3/8|74.0| 30 | 88 | 25 | 1.5
EUT0400-0060 = 60SU | 60.5 74 | W3/8/85.0| 30 | 114 | 25 | 1.5
EUT0400-0075 | 755U | 76.3 88 | W3/8[107.0] 35 | 114 | 25 | 1.5
. EUT0400-0080  80SU | 89.1 101 | W3/8/117.0] 35 | 140 | 30 | 1.5
(EmS > 0—F] EUT0400-0100 | 100SU | 114.3 126 | W3/8[145.0] 35 | 165 | 30 | 1.5

33



